


5.1.1 DO

51.2

513

40

5
-1
R D EmERAED - BRI
]
—— [Fak
—m 5%

# " —h— K |—
/ \ 10K

E =0
a=
30/
40 .\.
o 25 50 75 100 125
D0 (mes1)
36.5m DO1mg/l
10m 0.5m ( 40.5m)
-2
DO 0.16mg/l
26.70mg/I
40 0.29mg/l
10.3NTU

0.551ms/cm



5.1.4 ORP

ORP 101mv
40
+159mv
5.15 T-Fe D-Fe
54
5.1.6 COD
27.15mg/l 26.83mg/l
54
-2
10m
40.5m( 0.5m
10 27 40 54
(mg/1) 0.16 26.70 6.01 0.29 0.04
(NTU) 10.3 307.0 110.0 40.8 9.8
(ms/cm) 0.511 0.198 0.209 0.219 0.248
(mv) -101 +152 +224 +159 +125
T-Fe (mg/1) 102.92 63.48 6.84 17.20
D-Fe (mg/1) 52.00 11,51 0.16 13.71
cob (mg/1) 27.15 26.83 4.00 6.81
40 DO 1mg/l
5.2
-2 10m 175m
DO
DO 1mg/l
D0O26.7mg/l DO
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